
11.1) Integrating standard functions



Worked example Your turn

By thinking about integration as the reverse 
of differentiation, find:

න𝑥𝑛 𝑑𝑥

න𝑒𝑥 𝑑𝑥

By thinking about integration as the reverse 
of differentiation, find:

න
1

𝑥
𝑑𝑥

ln |𝑥| + 𝑐



Worked example Your turn

By thinking about integration as the reverse 
of differentiation, find:

නsin 𝑥 𝑑𝑥

න𝑐𝑜𝑠𝑒𝑐 𝑥 cot 𝑥 𝑑𝑥

නsec2 𝑥 𝑑𝑥

By thinking about integration as the reverse 
of differentiation, find:

නcos 𝑥 𝑑𝑥

න sec 𝑥 tan 𝑥 𝑑𝑥

නcosec2 𝑥 𝑑𝑥

sin 𝑥 + 𝑐

sec 𝑥 + 𝑐

−cot 𝑥 + 𝑐



Worked example Your turn

By thinking about integration as the reverse 
of differentiation, find:

න−sin 𝑥 𝑑𝑥

න−𝑐𝑜𝑠𝑒𝑐 𝑥 cot 𝑥 𝑑𝑥

න−sec2 𝑥 𝑑𝑥

By thinking about integration as the reverse 
of differentiation, find:

න−cos 𝑥 𝑑𝑥

න− sec 𝑥 tan 𝑥 𝑑𝑥

න− cosec2 𝑥 𝑑𝑥

− sin 𝑥 + 𝑐

−sec 𝑥 + 𝑐

cot 𝑥 + 𝑐



Worked example Your turn

Find:

න3sin 𝑥 −
4

𝑥2
+ 3 𝑥 𝑑𝑥

Find:

න2cos 𝑥 +
3

𝑥
− 𝑥 𝑑𝑥

2 sin 𝑥 + 3 ln |𝑥| −
2

3
𝑥
3
2 + 𝑐



Worked example Your turn

Find:

න
sin 𝑥

cos2 𝑥
𝑑𝑥

Find:

න
cos 𝑥

sin2 𝑥
𝑑𝑥

−𝑐𝑜𝑠𝑒𝑐 𝑥 + 𝑐



Worked example Your turn

Given that 

𝑎׬
5𝑎 3𝑥−1

𝑥
𝑑𝑥 = ln 2,

find the exact value of 𝑎.

Given that 

𝑎׬
3𝑎 2𝑥+1

𝑥
𝑑𝑥 = ln 12,

find the exact value of 𝑎.

𝑎 =
1

4
ln 4


